(& mm)
DEBFAV—-T (FZARY)
L
A
] ¥
I~ [ )
P50 ELBJ_—Hj

\ /

2
B3l =Sy A L I l | D[ d A
SSRW22RMP-04W | TS370 |w22-14(H) | 30 | 15 [116[(65| 5 | 7.000
SSRW22RMP-08W | TS371 |we22-14(5H) | 30 | 15 [116/9.7| 6 | 7,000
Z| SSRW22RMP-8AW | TS372 |W22-14(H) | 35 | 15 [11.6|143| 8 | 7,000
% SSRW22RMP-10AW | TS373 |w22-14(5) | 35 | 15 |16.6(17.8| 8 | 7,000
A | SSRW22RMP-15AW | TS374 |W22-14(H) | 40 | 15 |16.6(/222| 10 | 7.000
SSRW22RMP-20AW | TS375 |w22-14(5) | 40 | 15 |16.6(27.7| 10 | 7.000
SSRW22RMP-25AW | TS376 |w22-14(H) | 40 | 15 |16.6(34.5( 10 | 7,000
BSRW22RMP-8W | TB370 |W22-14#) | 30| 15|10 |8.1| 5 | 3,000
BSRW22RMP-10W | TB371 |W22-14(#)| 30| 15| 10 |10.1| 8 | 3,000
BSRW22RMP-16W | TB372 |W22-14(f5) | 30 | 15| 10 |16.1| 10 | 3,000

@M16-M12ER7 5T 5—

H (Hex)

#1MPaLI TOEERTY,

b [=ESea A A L ek | = AT
SHJM16RFR-RO4RFT | TS163* [ M16x1.5(#) (Rcl1/4|(37 | 6 [ 19| 6,000
SHJM1BLFR-RO4RFT | TS164* [ M16X1.5(k) [Rcl1/4|(37 | 6 [ 19| 6,000

2| SHIJM12RFR-RO4RFT | TS165% | M12%X1(H) |(Rcl/4|32| 3 |17 | 12,000

o

-
BHJM16RFR-RO4RFT | TB163* | M16x15(%) |Rc1/4| 37| 6 | 19| 3,600
BHJM16LFR-RO4RFT | TB164* | M16X15(%) (Rc1/4|( 37| 6 | 19| 3,600
BHJM12RFR-RO4RFT | TB165% | M12x1(f) |Rcl1/4|32| 3 | 17| 3,600

IR T R A~ S O

BREMAES) 20MPaitis CF . 20MPaEii R HENDBERFTEN TS
(B IOEEHFDOBONEDET )

1t 1MPa X3 3MPalI R TTERTEL .

L J:30MPaF CERWZEITET,
BIERIFP38BZECE T &L,

AEA-FRER
EAH#ER

HAHELZ v
& K B

HAEEL v
SoREREEE

BAEH R

B0y =)
HEH -8

INDEX(5E)
INDEX(5&)
FAXF ZHE
NEIPEEPLS
(@Rt v )
AZAXAZME
AAX AU
(SIS
AZAXDS—HF
EFubIAT)
A AXAAHFE
XA BT
EFub9AT)
F=
ILR
BEA-T

M16-M12/8

M16-M12H

Fa— BT
M16F2—T79F9—
W22Fa=—J 75T 5=
8rwh

HT2U—X

378



	ヤマト産業_08_00375P1
	ヤマト産業_08_00376P1

